
Federico
Sideboard

Model numbers 118-602/603/604/605/606/607

W1830 H740 D400

 

medium

40-80 mins

1 2

✓



Frame Sides (80x13x40) 118-140/141/142

total cartons = 6

carton 2

Part 1 - Horizontal Bars 
(166x08x04cm)118-152/153/154

Part 2 - Central Foot ( 40x12x8cm) 

1
1

    
    

2 2   

 items

Carcass (95x45x65cm) - 118-146/147 x 2

Top (190x47x7cm) - 118-150/151

3  

4 

hardware

Item A = M6 * 20 x 12 (in carton 4)

Item B =  M6 * 35 x 6 (in carton 1)

Item C = 4mm allan key x 1 (carton 4)

Item D = 6 x M6*30 Insert + bolt (Carton 4) 

Item E = Self tapping screws x 4 M4*12 (Carton 3 -Part 2)

carton 4

carton 3

carton 1

carton 3

x 2



with the frame upside down, place the Carcasses (carton 4) into the frame 
side by side and fixed from the sides with Item A.

fix the centre foot to the underside of the carcasses with item E

centre foot

slide frame sides onto cross rails - no fixing required.

 assembly stage 1  assembly stage 2

 1 

 1 

 2 

 3 

 2 

 assembly stage 3

 assembly stage 5  assembly stage 6

A 

fix the 2 x carcasses together from inside with item D

with the sideboard placed on its feet position the top and fix from 
inside with item B x 6

 assembly stage 4

D 

B 

E 

place and fix glass in place with supports pre-fitted to the carcass interior.

pre-fitted glass shelf fitings



sa les@g i l lmo re .co .uk
w w w . g i l l m o r e . c o . u k


